=R A = _
rusmaxs B IETE ausnz 88 IBITH BE
BiTHRER
1 2 3 4 5 6 7 8 9 10 1
X5 b EFSf2 vAE RE WA EA#DOC (WX &L ML B= MR BIE NERE 8 ER FTIE HOTE 12 =% »TUA FE FbH
(BARHER) (2BA%) (BBRERER) (BRRER) (BAR£LER) GIERER) (BHERER) (BEHERER) (BHRER) [€::351959) (BHRER)
[=17%01 5,710 9,325 5,907 7,114 6,786 7,434 7,726 8,793 6, 460 7,986 5, 347
[EA=T:) 21 12 24 58 16 28 54 39 129 205 20
SNTEER &t 5,731 9,337 5,931 7,172 6,802 7,462 7,780 8, 832 6,589 8, 191 5,367
12 13 14 15 16 17 BEBLY BOTYYB T BMRER i3] BELR FSEEEYZ BEEH BESE
=55y BA kL& (K —EB B% Lwyl B #E— o3& {17 Bl E=x Xy (A+B) BEH (C+D) = F e (E+F) é?%’“
(BHRER) (BHRER) (\EFTR) (BEHRER) (XBA%) [€: 50 A B C D E G #s PINX
aim 11, 245 11,284 9,958 5,740 10, 198 805 127, 818. 000 0 127,818 2,780 130, 598 -1 130, 597 8H1FF15%
EEHRT 82 249 97 18 274 6 1, 332. 000 0 1,332 26 1,358 0 1,358 TE21829%
SR TEER it 11, 327 11,533 10, 055 5,758 10, 472 811 129, 150. 000 0.000 129,150 2,806 131,956 -1 131,955
(&%)
EEREH 129150+ (15x 4)=2152.5

#HEEmRRR 129150+ (15 x 10) =861




